
 𝑖𝑙% = 𝑐𝑡𝑔%)





𝑟𝑣𝑙𝑛0,1 =  𝑙𝑜𝑦0,1 − 𝑐𝑡𝑔0,1

𝑟𝑣𝑙𝑛1,2 =  𝑙𝑜𝑦1,2 − 𝑐𝑡𝑔1,2 = 𝑙𝑜𝑦0,1. (1 + 𝑖𝑙%) − 𝑐𝑡𝑔0,1. (1 + 𝑐𝑡𝑔%)
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  Période 1 Période 2   écart 

  loy ctg rvln1 loy.(1+il%) ctg.(1+ctg%) rvln2 rvln%  il%-rvln% 

Min 406,7 21,7 385,0 415,2 22,2 393,0 2,0775 0,0225 

Moy 493,6 31,8 461,8 504,0 32,6 471,4 2,0725 0,0275 

Max 654,8 42,4 612,4 668,5 43,5 625,0 2,0723 0,0277 

  Période 1 Période 2   écart 

  loy ctg rvln1 loy.(1+il%) ctg.(1+ctg%) rvln2 rvln%  il%-rvln% 

Min 406,7 21,7 385,0 413,2 21,8 391,4 1,6620 -0,0620 

Moy 493,6 31,8 461,8 501,5 32,0 469,6 1,6757 -0,0757 

Max 654,8 42,4 612,4 665,2 42,6 622,6 1,6762 -0,0762 

(1)  ↔    𝑟𝑣𝑙𝑛%𝑡,𝑡+1 ≅ (1 + 𝑖𝑙%).
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